— 8

U

see separate images of this pager://farbe.li.tu-berlin.de/eed8/eed8.htm

htt;\g://farbe.li.tu-berlir;.de/eed8/eed8I0nac.)txt /.psonly vect(;r graphic VG; stgrt output

Munsell (Renotation)Chroma C = 2 and Value'
in chromaticity diagram (p,(F,U), g,(F,U)) P20~
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Munsell (Renotation)Chroma C = 2 and ValueV = 1,
in chromaticity diagram (p,(F,U), d(F.U)) P2g=2
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Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and9
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Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9
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